Supplier		QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
						DIAMOND DOL-A W/NFHS/NOCSAE	
Laux Sport	ng Goods, Inc	51	DOZEN	\$44.09	\$2,248.59		Diamond
	,				, ,		
2 Diamond D-1 Pro	Baseballs, Profession	nal, NF	HS.				
Supplier		QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
Scholastic	Sports Sales	15	DOZEN	\$59.90	\$898.50		
3 Baseballs, NFHS,	Wilson A1010ML (O	NLY). N	IOCSAE Appr	oved			
Supplier		QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer
Scholastic	Sports Sales	44	DOZEN	\$54.90	\$2,415.60		Wilson A1010ML
5 Soft Touch Incre	diball Baseball, 9 Nyl	on Clot	h Covered w	/Poly Core, Easto	n		
Supplier		QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
Scholastic	Sports Sales	51	DOZEN	\$31.90	\$1,626.90	CHAMPRO	Easton
6 Spalding Pro Seri	es Baseball, Leather	cover,	cushion cork	center, raised se	ams, Dozen		
Supplier		QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
Laux Sport	ng Goods, Inc	19	DOZEN	\$66.04	\$1,254.76	EXACTLY AS SPEC'D - LAUX #541100	
7 Jugs Lite-Flite Ba	seballs, Sponge Like	Texture	e, 1159240				
Supplier		QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
Pyramid So	hool Products	26	DOZEN	\$17.28	\$449.28	CHAMPION #PMB9	1159240
8 Baseball Size Wh	iffle Ball, BSN 10336	01					
Supplier		QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
						1503869 BALLS PLASTIC BASEBALL	
School Spe	cialty Inc	2	DOZEN	\$5.34	\$10.68	ASSORTED COLORS SOLD 6/PRICED DOZEN	RSN 1033601
School Spe	ciarcy, inc.		DOZLIV	75.54	710.00	7.030 MED COLONS SOLD OF MICED DOZEN	D314 1033001
9 Yellow Dimpled	Baseball, Yellow Dim	pled Pi	tching Mach	ine Baseball, Mad	gregor MCBD	BYEL	
Supplier		QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
RSN Sports	, Passon's Sports & L	J: 19	DOZEN	\$17.40	\$330.60	EXACTLY AS SPEC'D	Macgregor MCBD

.0 Pro Nin	ne Practice Balls, 9size 5 oz wei	ight. Fu	II Grain Leat	her Cover, Cork A		•	
S	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
В	SSN Sports, Passon's Sports & U	J:5	DOZEN	\$29.52	\$147.60	MACGREGOR MCB79PXX PG 49	
.2 Ball Bu	icket, with 3 Doz Baseballs						
S	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
P	Pyramid School Products	6	SET	\$83.98	\$503.88	CHAMPION #BUC6TOLB5	
.3 Rawling	gs Pro Style Coolflo Baseball B	atting H	Helmet NOC	SAE Approved, Siz	zes: L (7 1/8 - :	7 1/4), XXL (7 5/8 - 7 7/8), XL (7 3/8 - 7 1/2)), M (6 7/8 - 7),
S	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacture
						(CFABH-DISCONTINUED) = RAWLING RCFII	
						ONE SIZE FITS MOST - BLACK, NAVY,	
L	aux Sporting Goods, Inc	21	EACH	\$15.83	\$332.43	ROYAL, SCARLET	
4 Pasis P	atting Tee, Each						
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacture
	S&S Worldwide	7	EACH	\$9.42		CHAMPRO W13028	- Ivianulacturei
	dult Wood Fungo, Each	,	LACIT	75.42	Ş03. 3 4	CHAWFRO W13028	
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacture
L	aux Sporting Goods, Inc	2	EACH	\$22.65	\$45.30	WILSON WK100 - NATURAL COLOR ONLY	
.8 2017 Ea	aston MAKO BEAST BBCOR Bas	seball E	at, Just Bats	BB17MK or Equa	al		
S	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacture
L	aux Sporting Goods, Inc	1	EACH	\$75.15	\$75.15	EASTON 2020 MODEL ELEVATE #BB193L	
1 Fungo E	Bat #K100, L Slugger All Purpos	se, 36 2	4.5 oz, 1016	5001			
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacture
S				4	400.55	AC CRECIP WAR	4046004
	aux Sporting Goods, Inc	1	EACH	\$22.65	\$22.65	AS SPEC'D #K100	1016001
L	aux Sporting Goods, Inc			,	\$22.65	AS SPECID #K100	1016001
L 22 Men's E	••			,	\$22.65 Extended	Supplier Notes / Alternate Description	
L 22 Men's E	aux Sporting Goods, Inc Easton Stealth Catchers Helme	t, Must	: have NOCS	AE Seal			Manufacture

	Catchers Equipment Bag, Heavy Di	<i>,</i>	246, 11,101	i zippci w/ wiap ai	oana nanaics		
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	BSN Sports, Passon's Sports 8	≩ U∶2	EACH	\$21.31	\$42.62	BSN 1385403 PG 58 NO LEATHER ON ENDS	
24	Chest Protectors - Men's Youth - A	II Colors,	Adjustable	Attachment for Cu	stom Fit. NOS	CAE Approved.	
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
						EASTON GAMETIME #A165412	
						INTERMEDIATE SIZE - 16" BLACK, NAVY,	
						ROYAL, SCARLET (W/SILVER) W/NOCSAE	
	Laux Sporting Goods, Inc	4	EACH	\$44.65	\$178.60	STAMP	
25	Chest Protectors - Men's Adult - Al						
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
						EASTON GAMETIME - ADULT SIZE	
	Laury Chambina Caada Ina	0	FACIL	Ć40.0F	¢440.CE		
	Laux Sporting Goods, Inc	9	EACH	\$49.85	Ş448.0 <u>5</u>	#A165411 (BLACK, NAVY, ROYAL, SCARLET)	
26	Leg Guards - any color, 10 1/2 Inje	ction Mo	ded Shin Pi	000			
				ete			
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	Supplier				Extended	Supplier Notes / Alternate Description MACGREGOR 1159400 BSN PG 66 BLACK,	Manufacturer
	Supplier BSN Sports, Passon's Sports 8	QTY					Manufacturer
. T	BSN Sports, Passon's Sports &	QTY & U:1	UOM EACH	Unit Price \$32.63		MACGREGOR 1159400 BSN PG 66 BLACK,	Manufacturer
27	BSN Sports, Passon's Sports &	QTY & U:1 Triple kne	UOM EACH ecap design	Unit Price \$32.63 n, Specify color	\$32.63	MACGREGOR 1159400 BSN PG 66 BLACK, ROYAL, SCARLET	
27	BSN Sports, Passon's Sports &	QTY & U:1	UOM EACH	Unit Price \$32.63		MACGREGOR 1159400 BSN PG 66 BLACK, ROYAL, SCARLET Supplier Notes / Alternate Description	Manufacturer Manufacturer
27	BSN Sports, Passon's Sports &	QTY & U:1 Triple kne	UOM EACH ecap design	Unit Price \$32.63 n, Specify color	\$32.63	MACGREGOR 1159400 BSN PG 66 BLACK, ROYAL, SCARLET Supplier Notes / Alternate Description EASTON GAMETIME - ADULT SIZE - TRIPLE	
27	BSN Sports, Passon's Sports & Easton Men's Stealth Leg Guards, T	QTY & U:1 Triple kne QTY	UOM EACH ecap desig UOM	\$32.63 n, Specify color Unit Price	\$32.63 Extended	MACGREGOR 1159400 BSN PG 66 BLACK, ROYAL, SCARLET Supplier Notes / Alternate Description EASTON GAMETIME - ADULT SIZE - TRIPLE KNEE #A165419 (BLACK, NAVY, ROYAL,	
27	BSN Sports, Passon's Sports &	QTY & U:1 Triple kne	UOM EACH ecap design	Unit Price \$32.63 n, Specify color	\$32.63 Extended	MACGREGOR 1159400 BSN PG 66 BLACK, ROYAL, SCARLET Supplier Notes / Alternate Description EASTON GAMETIME - ADULT SIZE - TRIPLE	
	BSN Sports, Passon's Sports & Easton Men's Stealth Leg Guards, T Supplier Laux Sporting Goods, Inc	QTY & U:1 Triple kne QTY	EACH ecap designorm UOM EACH	\$32.63 n, Specify color Unit Price	\$32.63 Extended	MACGREGOR 1159400 BSN PG 66 BLACK, ROYAL, SCARLET Supplier Notes / Alternate Description EASTON GAMETIME - ADULT SIZE - TRIPLE KNEE #A165419 (BLACK, NAVY, ROYAL,	
	BSN Sports, Passon's Sports & Easton Men's Stealth Leg Guards, T	QTY & U:1 Triple kne QTY	EACH ecap designorm UOM EACH	\$32.63 n, Specify color Unit Price	\$32.63 Extended	MACGREGOR 1159400 BSN PG 66 BLACK, ROYAL, SCARLET Supplier Notes / Alternate Description EASTON GAMETIME - ADULT SIZE - TRIPLE KNEE #A165419 (BLACK, NAVY, ROYAL,	

9 Catchers Mask, CH-HS2 Hockey Sty	le Catche		Specify Size, Ridde	ell, Riddell		
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
					CHAMPRO HOCKEY STYLE #CMTS	
					(OPTIMUS PRO) BLACK, NAVY, ROYAL,	
Laux Sporting Goods, Inc	2	EACH	\$59.90	\$119.80	SCARLET	Riddell
0 Hockey Style Catchers Mask - Colle	giate Me	ets the NO	CSAF Standard for	Catcher's Hel	mets, One Size fits Range of 6 5/8 - 7 1/2	
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
- Серения — — — — — — — — — — — — — — — — — — —					RAWLINGS 1383962 BSN PG 66 BLACK,	
BSN Sports, Passon's Sports 8	& U:5	EACH	\$30.93	\$154.65	ROYAL, SCARLET	
1 Soft Touch Bases - Incumber bases	+ Ground	d Mounts. 3	bases per set			
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
					1568566 FOAM FILLED QUILTED COVER	
					BASE SET W/2 HD NYLON WEB STRAPS -	
School Specialty, Inc.	1	SET	\$25.59	\$25.59		
4 1 4 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1			0 0/0 :	<u> </u>	4000/ = - 0 1 0 1 1 1 1	10 : 10 11
		•		•	, 100% Top Grade 2-Ply Nylon Windings a	•
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
Pyramid School Products	22	EACH	\$44.98	\$989.56	TF1000 CLASSIC ZK #74-7839	Spalding
5 Men's Wide Channel TF1000, Exclu	ısive ZK C	omposite C	over 2/Superior G	ip and Feel, 1	00% Top Grade 2-Ply Nylon Windings and	Butyl Rubber
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
					SPALDING TF1000 LEGACY (NY STATE	
Laux Sporting Goods, Inc	22	EACH	\$50.07	\$1,101.54	BALL) #762258	Spalding
7 Dudley SB12LND-FP 12 FastPitch S	oftball AS	A .47 Cor S	ynthetic, Yellow w	/Red Seam, D	ozen	
•			Huit Dries	Evitare de d		
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
Pyramid School Products	25	DOZEN	\$59.78	\$1,494.50	DUDLEY #SB12LNDFP (#411-311Y)	
8 Softball Whiffle Balls, 12 Polly Ball	s. Dozen					
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
					BSN 1033618 EXACTLY AS SPEC'D PG 53	
BSN Sports, Passon's Sports 8	& 11 ¹ 5	DOZEN	\$6.68	\$33.40	PER DOXEN	
2514 5ports, 1 assorts 5ports 6	2 0.5	DOZLIN	70.00	755.40	I EN DOMEN	\/\FI 20

39	Jugs 12 Softie Yellow Game Balls, B	010001					
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	Riddell	44	DOZEN	\$42.50	\$1,870.00		
40	Soft Touch Incrediball Softball, 12,	Easton					
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	Scholastic Sports Sales	4	DOZEN	\$49.90	\$199.60	MARTIN	Easton
41	Spalding Dudley SB-12 Fast Pitch, L	eather co	ver, Item 4	H-311Y, Dozen			
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
						1404003 SOFTBALL DUDLEY ASA SB 12L	
						EAST PITCH LEATHER 12 INCH 47/375	
	School Specialty, Inc.	20	DOZEN	\$52.44	\$1,048.80	POUND SOLD EA/PRICED DOZEN	
42	luna Bitabina Marabina Cafeballa						
42	Jugs Pitching Machine Softballs						
			11004	11 - 11 B - 1			
	Supplier Pyramid School Products	QTY 38	UOM DOZEN	Unit Price \$30.98	Extended \$1,177.24	Supplier Notes / Alternate Description CHAMPION #DS12	Manufacturer
	Pyramid School Products	38	DOZEN			CHAMPION #DS12	Manufacturer
43	Pyramid School Products Easton Fastpitch Softball Bat, 14 Ba	38 arrel, spe	DOZEN	\$30.98	\$1,177.24	CHAMPION #DS12	
43	Pyramid School Products	38	DOZEN			CHAMPION #DS12 Supplier Notes / Alternate Description	Manufacturer Manufacturer
43	Pyramid School Products Easton Fastpitch Softball Bat, 14 Ba Supplier	38 arrel, spe QTY	DOZEN cify length UOM	\$30.98 Unit Price	\$1,177.24 Extended	CHAMPION #DS12 Supplier Notes / Alternate Description EASTON AMETHYST FP20AMY EAA113586	
43	Pyramid School Products Easton Fastpitch Softball Bat, 14 Ba	38 arrel, spe QTY	DOZEN	\$30.98	\$1,177.24 Extended	CHAMPION #DS12 Supplier Notes / Alternate Description	
	Pyramid School Products Easton Fastpitch Softball Bat, 14 Ba Supplier BSN Sports, Passon's Sports 8 Softball Batting Helmet w/Mounte	38 arrel, spec QTY 4 U:1 d Cage C	DOZEN cify length UOM EACH	\$30.98 Unit Price \$37.97 chutt Sports Air Pr	\$1,177.24 Extended \$37.97 To Pony Tail Ba	CHAMPION #DS12 Supplier Notes / Alternate Description EASTON AMETHYST FP20AMY EAA113586 28"-33" atting Helmet- All Colors, Must have NOSCA	Manufacturer LE Seal, Pony Tai
	Pyramid School Products Easton Fastpitch Softball Bat, 14 Ba Supplier BSN Sports, Passon's Sports 8	38 arrel, spec QTY	DOZEN cify length UOM EACH	\$30.98 Unit Price \$37.97	\$1,177.24 Extended \$37.97	CHAMPION #DS12 Supplier Notes / Alternate Description EASTON AMETHYST FP20AMY EAA113586 28"-33"	Manufacturer
	Pyramid School Products Easton Fastpitch Softball Bat, 14 Ba Supplier BSN Sports, Passon's Sports 8 Softball Batting Helmet w/Mounte	38 arrel, spec QTY 4 U:1 d Cage C	DOZEN cify length UOM EACH	\$30.98 Unit Price \$37.97 chutt Sports Air Pr	\$1,177.24 Extended \$37.97 To Pony Tail Ba	Supplier Notes / Alternate Description EASTON AMETHYST FP20AMY EAA113586 28"-33" htting Helmet- All Colors, Must have NOSCA Supplier Notes / Alternate Description	Manufacturer LE Seal, Pony Tai
	Pyramid School Products Easton Fastpitch Softball Bat, 14 Bat Supplier BSN Sports, Passon's Sports 8 Softball Batting Helmet w/Mounte Supplier	arrel, spec QTY & U:1 d Cage C	DOZEN cify length UOM EACH hin Strap, Sound	\$30.98 Unit Price \$37.97 chutt Sports Air Pr Unit Price	\$1,177.24 Extended \$37.97 To Pony Tail Batestended	CHAMPION #DS12 Supplier Notes / Alternate Description EASTON AMETHYST FP20AMY EAA113586 28"-33" Atting Helmet- All Colors, Must have NOSCA Supplier Notes / Alternate Description NO PONY TAIL PORT - RAWLINGS MATTE	Manufacturer LE Seal, Pony Tai
	Pyramid School Products Easton Fastpitch Softball Bat, 14 Ba Supplier BSN Sports, Passon's Sports 8 Softball Batting Helmet w/Mounte	38 arrel, spec QTY 4 U:1 d Cage C	DOZEN cify length UOM EACH	\$30.98 Unit Price \$37.97 chutt Sports Air Pr	\$1,177.24 Extended \$37.97 To Pony Tail Batestended	Supplier Notes / Alternate Description EASTON AMETHYST FP20AMY EAA113586 28"-33" htting Helmet- All Colors, Must have NOSCA Supplier Notes / Alternate Description	Manufacturer AE Seal, Pony Ta
45	Easton Fastpitch Softball Bat, 14 Ba Supplier BSN Sports, Passon's Sports & Softball Batting Helmet w/Mounte Supplier Laux Sporting Goods, Inc	38 errel, special QTY d U:1 d Cage C QTY	DOZEN cify length UOM EACH hin Strap, So UOM EACH	\$30.98 Unit Price \$37.97 chutt Sports Air Pr Unit Price \$29.90	\$1,177.24 Extended \$37.97 To Pony Tail Bate Extended \$269.10	Supplier Notes / Alternate Description EASTON AMETHYST FP20AMY EAA113586 28"-33" Itting Helmet- All Colors, Must have NOSCA Supplier Notes / Alternate Description NO PONY TAIL PORT - RAWLINGS MATTE FINISH WITH WHITE CAGE #RCFHLF	Manufacturer AE Seal, Pony Ta
45	Easton Fastpitch Softball Bat, 14 Bassupplier BSN Sports, Passon's Sports 8 Softball Batting Helmet w/Mounte Supplier Laux Sporting Goods, Inc	38 errel, special QTY d U:1 d Cage C QTY	DOZEN cify length UOM EACH hin Strap, So UOM EACH	\$30.98 Unit Price \$37.97 chutt Sports Air Pr Unit Price \$29.90	\$1,177.24 Extended \$37.97 To Pony Tail Bate Extended \$269.10	Supplier Notes / Alternate Description EASTON AMETHYST FP20AMY EAA113586 28"-33" Itting Helmet- All Colors, Must have NOSCA Supplier Notes / Alternate Description NO PONY TAIL PORT - RAWLINGS MATTE FINISH WITH WHITE CAGE #RCFHLF	Manufacturer AE Seal, Pony Ta
45	Easton Fastpitch Softball Bat, 14 Bassupplier BSN Sports, Passon's Sports & Softball Batting Helmet w/Mounte Supplier Laux Sporting Goods, Inc Chest Protector - Women's Youth -	38 Arrel, special QTY A U:1 d Cage C QTY 9	DOZEN cify length UOM EACH hin Strap, So UOM EACH s, Adjustabl	\$30.98 Unit Price \$37.97 chutt Sports Air Pr Unit Price \$29.90	\$1,177.24 Extended \$37.97 TO Pony Tail Ba Extended \$269.10 Custom Fit. No	CHAMPION #DS12 Supplier Notes / Alternate Description EASTON AMETHYST FP20AMY EAA113586 28"-33" Atting Helmet- All Colors, Must have NOSCA Supplier Notes / Alternate Description NO PONY TAIL PORT - RAWLINGS MATTE FINISH WITH WHITE CAGE #RCFHLF DSCAE Approved	Manufacturer E Seal, Pony Tal Manufacturer
45	Easton Fastpitch Softball Bat, 14 Bassupplier BSN Sports, Passon's Sports & Softball Batting Helmet w/Mounte Supplier Laux Sporting Goods, Inc Chest Protector - Women's Youth -	38 Arrel, special QTY A U:1 d Cage C QTY 9	DOZEN cify length UOM EACH hin Strap, So UOM EACH s, Adjustabl	\$30.98 Unit Price \$37.97 chutt Sports Air Pr Unit Price \$29.90	\$1,177.24 Extended \$37.97 TO Pony Tail Ba Extended \$269.10 Custom Fit. No	Supplier Notes / Alternate Description EASTON AMETHYST FP20AMY EAA113586 28"-33" Itting Helmet- All Colors, Must have NOSCA Supplier Notes / Alternate Description NO PONY TAIL PORT - RAWLINGS MATTE FINISH WITH WHITE CAGE #RCFHLF DSCAE Approved Supplier Notes / Alternate Description	Manufacturer E Seal, Pony Tai Manufacturer

	I Colors	. Adjustable <i>i</i>	Attachment for C	ustom Fit. NC	SCAE Approved	
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
Laux Sporting Goods, Inc	5	EACH	\$44.65	\$223.25	EAST (INTERMEDIATE SIZE) AS ABOVE	
ll Screen, 6 1/2' Tall x 6'Wide v	vith 33 2	< 20 pitch ho	le for live-arm, o	r machine pit	ching. With Ball Pouch., Each	
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
					CHAMPION NB7236 (L-SHAPE) (NO BALL	
Pyramid School Products	3	EACH	\$129.98	\$389.94	POUCH)	
n's Narrow Channel TF1000, E	kclusive	ZK Composit	e Cover 2/Superi	ior Grip and F	eel, 100% Top Grade 2-Ply Nylon Windings	and Butyl Rubbe
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
Pyramid School Products	27	EACH	\$45.59	\$1,230.93	TF1000 CLASSIC #747849	Spalding
n's Wide Channel TF1000, Excl	usive ZK	Composite	Cover 2/Superior	•		•
Supplier	QTY	UOM	Unit Price	Extended		Manufacturer
					SPALDING TF-1000 LEGACY #762269 (NY	
Laux Sporting Goods, Inc	33	EACH	\$50.07	\$1,652.31	STATE BALL)	Spalding
Il Batting Helmet w/Mounted	Cage w	/Chin Strap,	Schutt Sports Air	Pro - Must ha	ive NOSCAE Seal, Various Sizes	
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
Scholastic Sports Sales	1	EACH	\$31.90	\$31.90	RAWLINGS	
ig - Baseball/Softball, Heavy D	uty Nylo	n Reinforced	Vinyl, Holds 48	Baseballs or 2	4 Softballs	
ig - Baseball/Softball, Heavy Di Supplier	uty Nylo QTY	n Reinforced UOM	Vinyl, Holds 48 Unit Price		4 Softballs Supplier Notes / Alternate Description	Manufacturer
<u>- </u>			•	Extended		Manufacturer
Supplier	QTY 2	UOM EACH	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
Supplier Laux Sporting Goods, Inc	QTY 2	UOM EACH	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer Manufacturer
Supplier Laux Sporting Goods, Inc Equipment Bag - Black, Size: 36	QTY 2 6L x 13W	UOM EACH	Unit Price \$10.19	Extended \$20.38 Extended	Supplier Notes / Alternate Description CHAMPRO #E5	
Supplier Laux Sporting Goods, Inc Equipment Bag - Black, Size: 36 Supplier	QTY 2 SL x 13W QTY 3	UOM EACH / x 16H UOM EACH	Unit Price \$10.19 Unit Price	Extended \$20.38 Extended	Supplier Notes / Alternate Description CHAMPRO #E5 Supplier Notes / Alternate Description	
Supplier Laux Sporting Goods, Inc Equipment Bag - Black, Size: 36 Supplier Riddell	QTY 2 SL x 13W QTY 3	UOM EACH / x 16H UOM EACH	Unit Price \$10.19 Unit Price	\$20.38 Extended \$55.50	Supplier Notes / Alternate Description CHAMPRO #E5 Supplier Notes / Alternate Description	
	Il Screen, 6 1/2' Tall x 6'Wide we Supplier Pyramid School Products n's Narrow Channel TF1000, Exclusive Supplier Pyramid School Products n's Wide Channel TF1000, Exclusive Supplier Laux Sporting Goods, Inc Il Batting Helmet w/Mounted (Supplier)	Il Screen, 6 1/2' Tall x 6'Wide with 33 3 Supplier QTY Pyramid School Products 3 In's Narrow Channel TF1000, Exclusive Outpiler QTY Pyramid School Products 27 In's Wide Channel TF1000, Exclusive ZK Outpiler QTY Laux Sporting Goods, Inc 33 Il Batting Helmet w/Mounted Cage worth outpiler QTY	Il Screen, 6 1/2' Tall x 6'Wide with 33 X 20 pitch hologopplier QTY UOM Pyramid School Products 3 EACH In's Narrow Channel TF1000, Exclusive ZK Composite Gupplier QTY UOM Pyramid School Products 27 EACH In's Wide Channel TF1000, Exclusive ZK Composite Gupplier QTY UOM Laux Sporting Goods, Inc 33 EACH Il Batting Helmet w/Mounted Cage w/Chin Strap, Supplier QTY UOM	Il Screen, 6 1/2' Tall x 6'Wide with 33 X 20 pitch hole for live-arm, of Supplier QTY UOM Unit Price Pyramid School Products 3 EACH \$129.98 In's Narrow Channel TF1000, Exclusive ZK Composite Cover 2/Superior QTY UOM Unit Price Pyramid School Products 27 EACH \$45.59 In's Wide Channel TF1000, Exclusive ZK Composite Cover 2/Superior Gupplier QTY UOM Unit Price Paramid School Products 27 EACH \$45.59 In's Wide Channel TF1000, Exclusive ZK Composite Cover 2/Superior Gupplier QTY UOM Unit Price Laux Sporting Goods, Inc 33 EACH \$50.07 Il Batting Helmet w/Mounted Cage w/Chin Strap, Schutt Sports Air Gupplier QTY UOM Unit Price	Il Screen, 6 1/2' Tall x 6'Wide with 33 X 20 pitch hole for live-arm, or machine pitch in the supplier and supplier and supplier and supplier are supplier and supplier and supplier are supplier and supplier are supplier and supplier are supplier and supplier are su	Il Screen, 6 1/2' Tall x 6'Wide with 33 X 20 pitch hole for live-arm, or machine pitching. With Ball Pouch., Each Supplier QTY UOM Unit Price Extended Supplier Notes / Alternate Description CHAMPION NB7236 (L-SHAPE) (NO BALL Pyramid School Products 3 EACH \$129.98 \$389.94 POUCH) n's Narrow Channel TF1000, Exclusive ZK Composite Cover 2/Superior Grip and Feel, 100% Top Grade 2-Ply Nylon Windings Supplier QTY UOM Unit Price Extended Supplier Notes / Alternate Description Pyramid School Products 27 EACH \$45.59 \$1,230.93 TF1000 CLASSIC #747849 n's Wide Channel TF1000, Exclusive ZK Composite Cover 2/Superior Grip and Feel, 100% Top Grade 2-Ply Nylon Windings at Supplier QTY UOM Unit Price Extended Supplier Notes / Alternate Description SPALDING TF-1000 LEGACY #762269 (NY aux Sporting Goods, Inc 33 EACH \$50.07 \$1,652.31 STATE BALL) Il Batting Helmet w/Mounted Cage w/Chin Strap, Schutt Sports Air Pro - Must have NOSCAE Seal, Various Sizes Supplier QTY UOM Unit Price Extended Supplier Notes / Alternate Description

56 Ha	nging Bat Holder, Fence Mounted	l Heavy	Duty, Coat	ted in vinyl plastic to	protect bats	s, 30 long, hold 10 bats	
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	Laux Sporting Goods, Inc	10	EACH	\$17.19	\$171.90	CHAMPRO #E20 - HOLDS 12 BATS	
57 De	luxe Bat Bag, Heavy Duty Vinyl Co	oated N	ylon, Holds	s 15 Bats and 12 Bal	ls, 38 x 20, M	20067	
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	BSN Sports, Passon's Sports &	U:4	EACH	\$17.97	\$71.88	3 BSN 1385398 PG 59	M20067
58 Lin	e-up Cards-NCR 3 copy paper, 25	/packag	e, 5802004	4			
•	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	BSN Sports, Passon's Sports &	U:39	PKG	\$3.72	\$145.08	BSN MCLINEUP PG 88	5802004
59 Bas	seball/Softball Scorebook, NFHS,	Standar	d Size, 30	Game Scorebook w	/16 Batting Po	ositions and 9 Innings per Sheet, Peterson	Score Master
•	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	Scholastic Sports Sales	43	EACH	\$3.10	\$133.30)	Peterson Score M
61 Wi	lson Leather NCAA Basketball - Ir	door, O	fficial Size				
-	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	School Specialty, Inc.	6	EACH	\$14.73	\$88.38	3 1596348	
63 Wi	Ison Solution NCAA Game Basket	ball, Ead	:h				
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	Scholastic Sports Sales	12	EACH	\$52.90	\$634.80) WILSON SOLUTION	
64 W	omen's Girls RWW Narrow Chani	nel Leatl	ner Ball, No	CAA-Must have Nat	ional Federat	ion Stamp, Rawlings	
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	Scholastic Sports Sales	32	EACH	\$31.90	\$1,020.80) WILSON JET	Rawlings
66 Wr	rite-on, Wipe-off Clipboard, With	Basketb	all Court o	on Face, 12.5 X 18.5			
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	Scholastic Sports Sales	26	EACH	\$5.09	\$132.34	1	
67 Ma	ark V Basketball Score Book, Marl	٠V					
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	Laux Sporting Goods, Inc	54	EACH	\$4.07	\$219.78	3 AS SPEC'D MARK V - LAUX #G229	Mark V

Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacture
Pyramid School Products	20	EACH	\$1.89	\$37.80	CHAMPION #409	
Heads Up Dribble Glasses, Lightwei	ght plast	ic, adjustabl	e strap, Each			
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacture
BSN Sports, Passon's Sports &	u!3	EACH	\$1.36	\$4.08	BSN 5710XXXX	
The Slipp Nott, #SS60 Complete Set	Base Pa	ds w/60 She	ets			
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacture
Scholastic Sports Sales	8	EACH	\$64.90	\$519.20		
The Slipp Nott, #SM60 Replacemen	t Sheets,	Set of 60				
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacture
Scholastic Sports Sales	19	PER SET	\$29.90	\$568.10		
Full Court Mop, 72, Wooden handle	with (2)	microfiber (cleaning heads, Ea	ach, Tuway or	equal	
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacture
• •		00	Ome i nec	LACCHACA	Supplier Hotes	manactare
Triple Crown Sports	1	EACH	\$255.00	\$255.00	Supplier Notes	- Ivianaractare
Triple Crown Sports	1	EACH	\$255.00	\$255.00	te, Red Yellow, Basketballs, Footballs, Voll	
Triple Crown Sports	1	EACH	\$255.00	\$255.00 ess, Blue, Whi	te, Red Yellow, Basketballs, Footballs, Voll Supplier Notes / Alternate Description	eyballs
Triple Crown Sports Jumbo Mesh Ball Carrier, Heavy Du	1 ty, Draw	EACH string Top a	\$255.00 nd Shoulder Harn	\$255.00 ess, Blue, Whi	te, Red Yellow, Basketballs, Footballs, Voll	eyballs
Triple Crown Sports Jumbo Mesh Ball Carrier, Heavy Du	1 ty, Draw	EACH string Top a	\$255.00 nd Shoulder Harn	\$255.00 ess, Blue, Whi Extended	te, Red Yellow, Basketballs, Footballs, Voll Supplier Notes / Alternate Description	eyballs
Triple Crown Sports Jumbo Mesh Ball Carrier, Heavy Du Supplier School Specialty, Inc.	1 Ity, Draw QTY	EACH string Top an UOM EACH	\$255.00 nd Shoulder Harn Unit Price	\$255.00 ess, Blue, Whi Extended	te, Red Yellow, Basketballs, Footballs, Voll Supplier Notes / Alternate Description 018556 BAG BIG MESH BAG BLACK WHITE	eyballs
Triple Crown Sports Jumbo Mesh Ball Carrier, Heavy Du Supplier School Specialty, Inc.	1 Ity, Draw QTY	EACH string Top ar UOM	\$255.00 nd Shoulder Harn Unit Price	\$255.00 ess, Blue, Whi Extended	te, Red Yellow, Basketballs, Footballs, Voll Supplier Notes / Alternate Description 018556 BAG BIG MESH BAG BLACK WHITE SPORTIME BCB1-MT3521 Supplier Notes / Alternate Description	eyballs Manufacture
Triple Crown Sports Jumbo Mesh Ball Carrier, Heavy Du Supplier School Specialty, Inc. Spalding ALPHA Football - Composi	1 QTY 5	EACH string Top an UOM EACH UOM	\$255.00 Ind Shoulder Harne Unit Price \$7.88 Unit Price	\$255.00 ess, Blue, Whi Extended \$39.40	te, Red Yellow, Basketballs, Footballs, Voll Supplier Notes / Alternate Description 018556 BAG BIG MESH BAG BLACK WHITE SPORTIME BCB1-MT3521	eyballs Manufacture
Triple Crown Sports Jumbo Mesh Ball Carrier, Heavy Du Supplier School Specialty, Inc. Spalding ALPHA Football - Composi	1 QTY 5	EACH string Top an UOM EACH	\$255.00 nd Shoulder Harn Unit Price \$7.88	\$255.00 ess, Blue, Whi Extended \$39.40	te, Red Yellow, Basketballs, Footballs, Voll Supplier Notes / Alternate Description 018556 BAG BIG MESH BAG BLACK WHITE SPORTIME BCB1-MT3521 Supplier Notes / Alternate Description BALL FOOTBALL OFFICIAL RUBBER MIKASA	eyballs Manufacture
Triple Crown Sports 3 Jumbo Mesh Ball Carrier, Heavy Du Supplier School Specialty, Inc. 5 Spalding ALPHA Football - Composi Supplier School Specialty, Inc. 5 Spalding ALPHA Football - Leather	1 ety, Draw QTY 5 te. QTY 6	EACH String Top an UOM EACH UOM EACH	\$255.00 Ind Shoulder Harnor Unit Price \$7.88 Unit Price \$10.28	\$255.00 ess, Blue, Whi Extended \$39.40 Extended \$61.68	te, Red Yellow, Basketballs, Footballs, Voll Supplier Notes / Alternate Description 018556 BAG BIG MESH BAG BLACK WHITE SPORTIME BCB1-MT3521 Supplier Notes / Alternate Description BALL FOOTBALL OFFICIAL RUBBER MIKASA E5500	eyballs Manufacture Manufacture
Triple Crown Sports 3 Jumbo Mesh Ball Carrier, Heavy Du Supplier School Specialty, Inc. 5 Spalding ALPHA Football - Composi Supplier School Specialty, Inc. 6 Spalding ALPHA Football - Leather Supplier	ty, Draw QTY 5 te. QTY 6	EACH String Top an UOM EACH UOM EACH	\$255.00 Ind Shoulder Harne Unit Price \$7.88 Unit Price \$10.28 Unit Price	\$255.00 ess, Blue, Whi Extended \$39.40 Extended \$61.68 Extended	te, Red Yellow, Basketballs, Footballs, Voll Supplier Notes / Alternate Description 018556 BAG BIG MESH BAG BLACK WHITE SPORTIME BCB1-MT3521 Supplier Notes / Alternate Description BALL FOOTBALL OFFICIAL RUBBER MIKASA E5500 Supplier Notes	
Triple Crown Sports 3 Jumbo Mesh Ball Carrier, Heavy Du Supplier School Specialty, Inc. 5 Spalding ALPHA Football - Composi Supplier School Specialty, Inc. 5 Spalding ALPHA Football - Leather	1 ety, Draw QTY 5 te. QTY 6	EACH String Top an UOM EACH UOM EACH	\$255.00 Ind Shoulder Harnor Unit Price \$7.88 Unit Price \$10.28	\$255.00 ess, Blue, Whi Extended \$39.40 Extended \$61.68 Extended	te, Red Yellow, Basketballs, Footballs, Voll Supplier Notes / Alternate Description 018556 BAG BIG MESH BAG BLACK WHITE SPORTIME BCB1-MT3521 Supplier Notes / Alternate Description BALL FOOTBALL OFFICIAL RUBBER MIKASA E5500	eyballs Manufacture Manufacture
Triple Crown Sports 3 Jumbo Mesh Ball Carrier, Heavy Du Supplier School Specialty, Inc. 5 Spalding ALPHA Football - Composi Supplier School Specialty, Inc. 6 Spalding ALPHA Football - Leather Supplier Laux Sporting Goods, Inc 7 Revolution Speed Helmet, Sizes S-X	ty, Draw QTY 5 te. QTY 6 QTY 48	EACH string Top an UOM EACH UOM EACH UOM EACH CACH UOM EACH CACH C	\$255.00 Ind Shoulder Harne Unit Price \$7.88 Unit Price \$10.28 Unit Price \$57.83	\$255.00 ess, Blue, Whi Extended \$39.40 Extended \$61.68 Extended	te, Red Yellow, Basketballs, Footballs, Voll Supplier Notes / Alternate Description 018556 BAG BIG MESH BAG BLACK WHITE SPORTIME BCB1-MT3521 Supplier Notes / Alternate Description BALL FOOTBALL OFFICIAL RUBBER MIKASA E5500 Supplier Notes AS SPEC'D OFFICIAL SIZE LAUX #56758	eyballs Manufacture Manufacture Manufacture
Triple Crown Sports 3 Jumbo Mesh Ball Carrier, Heavy Du Supplier School Specialty, Inc. 5 Spalding ALPHA Football - Composi Supplier School Specialty, Inc. 5 Spalding ALPHA Football - Leather Supplier Laux Sporting Goods, Inc	1 ty, Draw QTY 5 te. QTY 6	EACH String Top an UOM EACH UOM EACH UOM EACH	\$255.00 Ind Shoulder Harne Unit Price \$7.88 Unit Price \$10.28 Unit Price	\$255.00 ess, Blue, White Extended \$39.40 Extended \$61.68 Extended \$2,775.84 Extended	te, Red Yellow, Basketballs, Footballs, Voll Supplier Notes / Alternate Description 018556 BAG BIG MESH BAG BLACK WHITE SPORTIME BCB1-MT3521 Supplier Notes / Alternate Description BALL FOOTBALL OFFICIAL RUBBER MIKASA E5500 Supplier Notes	eyballs Manufacture Manufacture

Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
Laux Sporting Goods, Inc	36	Each	\$57.83		AS SPEC'D LAUX #56758	
zaan sporting coods, me	30	20011	φ37.03	γ2)002.00	7.6 G. 26 B 2.167/1136736	
2 Rawlings ST 5 Modified Football						
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
					(STS YOUTH DISCONTINUED) RAWLINGS	
					COMPOSITE YOUTH FOOTBALL -	
Laux Sporting Goods, Inc	14	EACH	\$15.47	\$216.58	EDGECOMP (LAUX #RCY)	
4 Web Belts, 60, Specify color, Ridde	ell					
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacture
BSN Sports, Passon's Sports &	& U:50	EACH	\$0.52	\$26.00	BSN FBBLTI PG 129	Riddell
7 Girdle Shells w/Pads, Pocket Lycra	w/Hip Ta	il Asent				
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacture
BSN Sports, Passon's Sports &	& U∶2	DOZEN	\$231.12	\$462.24	GEAR PROTEC 1395519 BSN PG 109	
8 Power 5 SPK Shoulder Pad (new 20)13), Each	, Riddell				
8 Power 5 SPK Shoulder Pad (new 20 Supplier	013), Each QTY	, Riddell UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacture
· ·			Unit Price \$235.00	Extended \$2,350.00	• • • • • • • • • • • • • • • • • • • •	Manufacture Riddell
Supplier Riddell	QTY 10	UOM EACH			• • • • • • • • • • • • • • • • • • • •	
Supplier	QTY 10	UOM EACH			• • • • • • • • • • • • • • • • • • • •	Riddell
Supplier Riddell 4 Riddell Air Pump w/Needle for Air	QTY 10 Helmets,	UOM EACH Riddell	\$235.00	\$2,350.00	Supplier Notes	Riddell
Supplier Riddell 4 Riddell Air Pump w/Needle for Air Supplier	QTY 10 Helmets, QTY 3	UOM EACH Riddell UOM EACH	\$235.00 Unit Price \$10.00	\$2,350.00 Extended	Supplier Notes	Riddell Manufacture
Supplier Riddell 4 Riddell Air Pump w/Needle for Air Supplier Riddell	QTY 10 Helmets, QTY 3	UOM EACH Riddell UOM EACH	\$235.00 Unit Price \$10.00	\$2,350.00 Extended	Supplier Notes	Manufacture Riddell
Supplier Riddell 4 Riddell Air Pump w/Needle for Air Supplier Riddell 7 Scrimmage Helmet Cover, One size	QTY 10 Helmets, QTY 3	UOM EACH Riddell UOM EACH /arious Color	\$235.00 Unit Price \$10.00	\$2,350.00 Extended \$30.00 Extended	Supplier Notes	Manufacture Riddell
Supplier Riddell 4 Riddell Air Pump w/Needle for Air Supplier Riddell 7 Scrimmage Helmet Cover, One size Supplier	QTY 10 Helmets, QTY 3	UOM EACH Riddell UOM EACH	\$235.00 Unit Price \$10.00 rs Unit Price	\$2,350.00 Extended \$30.00 Extended	Supplier Notes Supplier Notes / Alternate Description	Manufacture Riddell
Supplier Riddell 4 Riddell Air Pump w/Needle for Air Supplier Riddell 7 Scrimmage Helmet Cover, One size Supplier BSN Sports, Passon's Sports &	QTY 10 Helmets, QTY 3	UOM EACH Riddell UOM EACH	\$235.00 Unit Price \$10.00 rs Unit Price	\$2,350.00 Extended \$30.00 Extended	Supplier Notes Supplier Notes / Alternate Description	Manufacture

	ound Zero Kick Off Tees, 2						
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	BSN Sports, Passon's Sports	& U:9	EACH	\$9.55	\$85.95	EXACTLY AS SPEC'D 1405590	
.04 Tri	ple Play Wrist Coach, Envelope	to encase	play sheet				
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	BSN Sports, Passon's Sports	& U:102	EACH	\$4.40	\$448.80	NEUMANN 1453160 BSN PG 121	
L05 Pla	cement Tees - 2 Extra Point, 27	7540 2754	11-Riddell				
-	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	Laux Sporting Goods, Inc	6	EACH	\$2.33	\$13.98	MARTIN PK 90 2" EXTRA POINT	
L07 Foc	otball Cleat 1/2						
-	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	Riddell	2	EACH	\$10.00	\$20.00	2011 (BAG OF 100)	
L08 Wr	ist Coach, Holds 3 x 5 Card, Ass	orted colo	rs available	Each			
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	BSN Sports, Passon's Sports	& U:5	EACH	\$2.31	\$11.55	BSN FBSWBBKX PG 121 BLACK OR WHITE	
109 Tra	vel Cleat Cleaner, 15 x 11 1/2						
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	Supplier BSN Sports, Passon's Sports	•	UOM EACH	Unit Price \$21.84		Supplier Notes / Alternate Description BSN 1186796 PG 31 19" X 14"	Manufacturer
110 Titl	• •	•					Manufacturer
110 Titl	BSN Sports, Passon's Sports	•					Manufacturer Manufacturer
L10 Titl	BSN Sports, Passon's Sports	& U:9	EACH	\$21.84	\$196.56	BSN 1186796 PG 31 19" X 14"	
110 Titl	BSN Sports, Passon's Sports	& U:9	EACH	\$21.84	\$196.56 Extended	BSN 1186796 PG 31 19" X 14" Supplier Notes / Alternate Description	
	BSN Sports, Passon's Sports deist NXT Tour Balls Supplier	& U:9 QTY	UOM DOZEN	\$21.84 Unit Price \$37.80	\$196.56 Extended	BSN 1186796 PG 31 19" X 14" Supplier Notes / Alternate Description (NXT TOUR DISCONTINUED) 2020 MODEL	
	BSN Sports, Passon's Sports of BSN Sports of Beist NXT Tour Balls Supplier Laux Sporting Goods, Inc	& U:9 QTY	UOM DOZEN	\$21.84 Unit Price \$37.80	\$196.56 Extended	BSN 1186796 PG 31 19" X 14" Supplier Notes / Alternate Description (NXT TOUR DISCONTINUED) 2020 MODEL	
	BSN Sports, Passon's Sports of BSN Sports, Passon's Sports of Beist NXT Tour Balls Supplier Laux Sporting Goods, Inc	& U:9 QTY 7 mbers (Ex	UOM DOZEN	\$21.84 Unit Price \$37.80 \$1 - 4), Dozen	\$196.56 Extended \$264.60	BSN 1186796 PG 31 19" X 14" Supplier Notes / Alternate Description (NXT TOUR DISCONTINUED) 2020 MODEL TITLEIST TOUR SOFT	Manufacturer Manufacturer

112 Whif	ffle Golf Balls						
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	School Specialty, Inc.	6	DOZEN	\$1.77	\$10.62	1503875	
113 Golf	Tees, State amount						
-	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	Triple Crown Sports	2	BOX	\$14.00	\$28.00		
114 Brine	e Goalie Shin Guards, Non-Plasti	ic, (Lacro	osse)				
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	BSN Sports, Passon's Sports &	U:6	PAIR	\$18.76	\$112.56	STX 1391010 BSN PG 145	
115 Brine	e Current Year Model Body Pad	- Large,	Brine Lacros	sse			
<u> </u>	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
						STX GOALIE CHEST PROTECTOR SHIELD 200	
	Laux Sporting Goods, Inc	2	EACH	\$51.80	\$103.60	#CP20	
116 Brine	e Shoulder Pads (Lacrosse), Larg	e					
-	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	Laux Sporting Goods, Inc	12	PAIR	\$34.07	\$408.84	STX STALLION 75 #SP75	
117 Brine	e Shoulder Pads (Lacrosse), Med	lium					
-	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	Laux Sporting Goods, Inc	12	PAIR	\$34.07	\$408.84	STX STALLION 75 # SP7543.09	
118 Brine	e Current Year Model Rib Pads (Lacrosse	e), Large				
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	Laux Sporting Goods, Inc	2	EACH	\$43.09	\$86.18	STX STALLION 200 #PRT2	
120 Brine	e Gloves (Lacrosse)						
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
						STX STALLION 75 #575F (SPECIFY 12"	
	Laux Sporting Goods, Inc	26	PAIR	\$33.48	\$870.48	MEDIUM OR 13" LARGE)	

L22 Brin	e Current Year Model Arm Pads (Lacros	se)				
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacture
	Laux Sporting Goods, Inc	6	PAIR	\$26.70	\$160.20	STX STALLION 75 #AP75	
.24 Lacr	osse Coach Whiteboard, L 18.5 x	H 13.5	x D 7, Each				
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacture
	Scholastic Sports Sales	7	EACH	\$5.90	\$41.30		
.25 Pad	ded Goalie Pants - Current Year N	/lodel,	with poly m	esh and reinforce	d waistband, X	(S-XL	
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacture
	BSN Sports, Passon's Sports & L	J:3	EACH	\$39.98	\$119.94	STX BREAKER 1390909 BSN PG 145	
26 LaCı	rosse Yellow Game Balls - NOCSA	E, Girls	Lax				
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacture
	Laux Sporting Goods, Inc	182	DOZEN	\$14.67	\$2,669.94	AS SPEC'D - LAUX #CHLBY	
27 Mer	n's Scorebook Lacrosse, Brine onl	у					
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacture
	Scholastic Sports Sales	13	EACH	\$5.90	\$76.70	BIG RED	Brine
.28 Woı	men's Lacrosse Coaches Clipboard	d, Full F	ield on one	side, Half Field on	other side, Di	ry Erase Board	
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacture
	BSN Sports, Passon's Sports & L	J: 9	EACH	\$6.42	\$57.78	BSN 1388112 EXACTLY AS SPEC'D PG 145	
.29 Wo	mens Brine Lacrosse Scorebook, E	Brine o	nly				
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacture
	Scholastic Sports Sales	13	EACH	\$5.40	\$70.20	BIG RED	Brine
30 Offi	cial Lacrosse Balls - NOCSAE, Gan	ne - Wh	ite				
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacture
	Laux Sporting Goods, Inc	212	DOZEN	\$14.67	\$3,110.04	AS SPEC'D LAUX #CHLBW	
	rosse Low Bounce Ball, Dozen						
.31 LaC	1033e LOW Dounce Dan, Dozen						
L31 LaC	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacture

Su _l	pplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
Lau	ux Sporting Goods, Inc	12	EACH	\$26.62	\$319.44	AS SPEC'D	
33 Pop-Up L	acrosse Goal, 4' x 4', Folds up	easily	into a hand	y carrying case			
Su	pplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
Tri	ple Crown Sports	4	EACH	\$43.00	\$172.00		
35 Goalie St	ick - Current Year Model, Eac	:h					
Su	pplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
Lau	ux Sporting Goods, Inc	2	EACH	\$64.80	\$129.60	STX SHIELD 100 #SH10CS	
36 Champio	n Sports Adult Scrimmage Ve	sts, Se	t of 12, Vari	ous Colors			
Su	pplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacture
BSI	N Sports, Passon's Sports & U	:2	Set	\$16.32	\$32.64	BSN C46 PG 127 SET OF 12	
37 Cascade	Throat Protector - Current Ye	ar Mo	del				
Su _l	pplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacture
BSI	N Sports, Passon's Sports & U	:2	EACH	\$22.78	\$45.56	EXACTLY AS SPEC'D 1454505	
39 STX Buck	et Ball Bag, Holds over 6 doz	en ball	S				
Su	pplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
BSI	N Sports, Passon's Sports & U	1	EACH	\$19.94	\$19.94	EXACTLY AS SPEC'D 1334494	
40 Official L	acrosse Nets, White, knotless	s nylor	, minimum !	5mm net			
Su	pplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacture
Pyr	ramid School Products	9	EACH	\$47.98	\$431.82	CHAMPION #LN55EA	
42 Rage Cag	ge LAX B100, 6' x 6' x 7', Foldi	ng Lacı	osse Goal				
Su	pplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacture
BSI	N Sports, Passon's Sports & U	2	EACH	\$215.17	\$430.34	EXACTLY AS SPEC'D 1375528	
43 STX Sting	ger Goalie Chest Protector, Ea	ıch					
C	pplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacture
Sul	philei	QII	OOIVI	Office Fried	Exteriaca	Supplier Hotes / Alternate Description	Widilalactare

	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	BSN Sports, Passon's Sports &	& U:7	DOZEN	\$19.16	\$134.12	BSN MSTOWELS PG 134	
45 Gar	me Clock, Table Top, Champion						
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	BSN Sports, Passon's Sports &	& U∶2	EACH	\$357.12	\$714.24	BSN SK999 PG 255	Champion
46 Hea	avy Duty Mesh Bag, Drawstring	Closure v	v/Spring Loc	k, 24 X 36, State (Color		
-	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	BSN Sports, Passon's Sports &	& U:18	EACH	\$2.18	\$39.24	BSN SNBCNET PG 166 32" X 36"	
47 Mo	outh Guard w/Strap, State Color	and Size					
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	BSN Sports, Passon's Sports &	& U:975	EACH	\$0.29	\$282.75	BSN MSMOUT EXACTLY AS SPEC'D PG 123	
48 Me	tal Airhorn w/Canisters, Falcon	, Falcon					
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	Laux Sporting Goods, Inc	10	EACH	\$7.77	\$77.70	FALCON PLASTIC HORN W/REFILL #FSH	Falcon
49 Wa	ter Bottles - 32oz Plastic, Durab	le Plastic	with push/	oull top squirt ops	, Set of 6		
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	Laux Sporting Goods, Inc	67	SET	\$8.64	\$578.88	AS SPEC'D - BIG MOUTH - PUSH PULL TOP I	_1
				70.0 +	•		
50 Wat	ter Bottle Carrier, Wire coated			·	· #66-543		
50 Wat	ter Bottle Carrier, Wire coated Supplier			·	#66-543	Supplier Notes / Alternate Description	Manufacturer
50 Wai		carrier, ca	arriers 6 bot	tles, Each, Gophei	Extended	Supplier Notes / Alternate Description AS SPEC'D - LAUX #MWBC6	Manufacturer
•	Supplier	carrier, ca QTY 3	arriers 6 bot	tles, Each, Gophei Unit Price	Extended		Manufacturer
•	Supplier Laux Sporting Goods, Inc	carrier, ca QTY 3	arriers 6 bot	tles, Each, Gophei Unit Price	Extended		Manufacturer Manufacturer

S	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
В	SSN Sports, Passon's Sports & U	5	DOZEN	\$3.32	\$16.60	BSN 1376530	
L53 Speed C	Chute, Adjustable waistband w	ith qui	ick release s	trap, Each			
S	upplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
L	aux Sporting Goods, Inc	6	EACH	\$32.85	\$197.10	CHAMPION #SPCHTS	
.54 Agility I	Ladder						
S	upplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
В	SSN Sports, Passon's Sports & U	3	EACH	\$21.71	\$65.13	REACTOR 1248548 BSN PG 239	
.56 Adult P	ractice Vest - Pinnies, Various	Colors	(yellow, ora	inge)			
S	upplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
В	SSN Sports, Passon's Sports & U	83	EACH	\$1.36	\$112.88	BSN C46 PG 127	
.57 #PKI- 3	2 1/4 Tall Disc Cones, Various	Colors					
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
Т	riple Crown Sports	27	EACH	\$0.40	\$10.80		
158 #PO-5 [Disc Cone Carrier						
S	upplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
						CHAMPION #SCR - HOLDS UP TO 100 DISC	
Li	aux Sporting Goods, Inc	33	EACH	\$2.37	\$78.21	CONE	
L59 Accuspl	lit AL625M8D Stopwatch, Built	-in me	mory, Split	Counter, a Count		1,2 Fast Finish, Split Release/Action	
	upplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
Т	riple Crown Sports	15	EACH	\$12.80	\$192.00		
.60 Premie	r Scrimmage Vests, Nylon Mes	h, Spe	cify Size Col	or			
	Supplier		UOM	Unit Price		Supplier Notes / Alternate Description	Manufacturer
Р	Pyramid School Products	15	EACH	\$1.69	\$25.35	CHAMPION #S2M-COLOR	
62 Stop W	atch Accu-Split #760XP						
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	Aluminum Athletic Equipment C	10	EACH	\$38.00	\$380.00	ACCUSPLIT, AX602 100 MEMORY	

Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
Triple Crown Sports	10	EACH	\$5.00	\$50.00		
64 Spalding TF-5000 Soccer Ball, Size 5	, Each					
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
Laux Sporting Goods, Inc	170	Each	\$31.92	\$5,426.40	AS SPEC'D LAUX #STF5000	
65 Brine International Ball (Hand Sewi	n) Give C	olor White	/Black			
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
BSN Sports, Passon's Sports &	≀ U:6	EACH	\$16.52	\$99.12	BRINE VORACITY 1378532 BSN PG 148	
66 Brine Attack Soccer Ball, Size 3, 4, 5	5					
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
BSN Sports, Passon's Sports &	u:6	EACH	\$8.14	\$48.84	EXACTLY AS SPEC'D 1378536	
67 Select Royale Soccer Ball, For indoc	or/outdo	or use				
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
Laux Sporting Goods, Inc	30	EACH	\$35.47	\$1,064.10	AS SPEC'D - LAUX #5256	
68 NCAA Championship Soccer Ball, M	lust have	National F	ederation Stamp, I	Brine		
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacture
BSN Sports, Passon's Sports &	u:14	EACH	\$35.48	\$496.72	EXACTLY AS SPEC'D 1395098	Brine
69 Brine Indoor Soccerball, 32 Panel Ir	ndoor Ga	me Ball				
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacture
BSN Sports, Passon's Sports &	υ:4	EACH	\$14.94	\$59.76	EXACTLY AS SPEC'D 1390138	
70 NCAA NFHS approved Phantom W	hite Soco	er Ball, Brir	ne			
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacture
					DRINE DUANTONA V 4207724 NEUC	
		EACH	\$20.07		BRINE PHANTOM X 1397721 NFHS	

Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
BSN Sports, Passon's Sports &	& U:6	PER SET	\$27.91	\$167.46	BSN MSSOCKLGY PG 164	
.72 Deluxe Corner Flags, 60 H x 1/2 Fle	xible Ace	tate Post. Fla	ags 13 Square. Se	t of 4		
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
Triple Crown Sports	3	SET	\$28.00	\$84.00	· · · · · · · · · · · · · · · · · · ·	
.73 Adidas Polo Goalkeeping Numbere	ed Jersey,	S-XXL				
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
Scholastic Sports Sales	10	EACH	\$31.50	\$315.00	SELECT W/NUMBERS	
.74 Pop-Up Goals, Approximately: 6 1/	/2' W x 3 :	1/2' H				
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacture
BSN Sports, Passon's Sports &	& U∶2	SET	\$64.52	\$129.04	PUGG 1063936 BSN PG 163 SET=2	
.75 #SCAB-6 Captain Arm Bands - Any	Color, Fo	Boys and G	irls, No Substitute	es, 6/pkg, Kwi	k Goal	
	OTV	UOM	Unit Price	Extended	Consilient Notes / Alternate Description	
Supplier	QTY	OOIVI	Offit Price	LAtenueu	Supplier Notes / Alternate Description	Manufacture
Supplier BSN Sports, Passon's Sports 8		PACK	\$2.38		KWIK GOAL 19BY	Manufacturei Kwik Goal
	& U:11	PACK				
BSN Sports, Passon's Sports &	& U:11	PACK				Kwik Goal
BSN Sports, Passon's Sports &	& U:11	PACK alls	\$2.38	\$26.18 Extended	KWIK GOAL 19BY	Manufacturer Kwik Goal Manufacturer
BSN Sports, Passon's Sports & 76 Brine Championship Ball Bag, Hold Supplier BSN Sports, Passon's Sports &	& U:11 Is 10-15 B QTY & U:13	PACK alls UOM EACH	\$2.38 Unit Price \$20.24	\$26.18 Extended \$263.12	KWIK GOAL 19BY Supplier Notes / Alternate Description	Kwik Goal Manufacture
BSN Sports, Passon's Sports & 76 Brine Championship Ball Bag, Hold Supplier BSN Sports, Passon's Sports &	& U:11 Is 10-15 B QTY & U:13	PACK alls UOM EACH	\$2.38 Unit Price \$20.24	\$26.18 Extended \$263.12	Supplier Notes / Alternate Description SELECT 1369578 BSN PG 166	Kwik Goal Manufacture
BSN Sports, Passon's Sports & 76 Brine Championship Ball Bag, Hold Supplier BSN Sports, Passon's Sports & 77 Eurosport - Adidas Tournament Ba	& U:11 Is 10-15 B QTY & U:13	PACK alls UOM EACH rry Handle a	\$2.38 Unit Price \$20.24 nd Shoulder Strap	\$26.18 Extended \$263.12 p, Includes Pool	Supplier Notes / Alternate Description SELECT 1369578 BSN PG 166 cket to Hold Ball Pump, Hold 15 - size 5 ba	Kwik Goal Manufacturer
BSN Sports, Passon's Sports & 76 Brine Championship Ball Bag, Hold Supplier BSN Sports, Passon's Sports & 77 Eurosport - Adidas Tournament Ba Supplier	& U:11 Is 10-15 B QTY & U:13 III Bag, Ca QTY	PACK alls UOM EACH rry Handle a UOM	\$2.38 Unit Price \$20.24 nd Shoulder Strap Unit Price	\$26.18 Extended \$263.12 p, Includes Pool	Supplier Notes / Alternate Description SELECT 1369578 BSN PG 166 cket to Hold Ball Pump, Hold 15 - size 5 ba Supplier Notes / Alternate Description	Kwik Goal Manufacture
BSN Sports, Passon's Sports & 76 Brine Championship Ball Bag, Hold Supplier BSN Sports, Passon's Sports & 77 Eurosport - Adidas Tournament Ba Supplier Laux Sporting Goods, Inc	& U:11 Is 10-15 B QTY & U:13 III Bag, Ca QTY	PACK alls UOM EACH rry Handle a UOM	\$2.38 Unit Price \$20.24 nd Shoulder Strap Unit Price	\$26.18 Extended \$263.12 p, Includes Pool	Supplier Notes / Alternate Description SELECT 1369578 BSN PG 166 cket to Hold Ball Pump, Hold 15 - size 5 ba Supplier Notes / Alternate Description	Kwik Goal Manufacture
BSN Sports, Passon's Sports & 76 Brine Championship Ball Bag, Hold Supplier BSN Sports, Passon's Sports & 77 Eurosport - Adidas Tournament Ba Supplier Laux Sporting Goods, Inc 78 5MM Soccer Net-State Color	& U: 11 Is 10-15 B QTY & U: 13 III Bag, Ca QTY 5	PACK alls UOM EACH rry Handle a UOM EACH	\$2.38 Unit Price \$20.24 Ind Shoulder Strap Unit Price \$25.83	\$26.18 Extended \$263.12 p, Includes Pool Extended \$129.15	Supplier Notes / Alternate Description SELECT 1369578 BSN PG 166 Eket to Hold Ball Pump, Hold 15 - size 5 ba Supplier Notes / Alternate Description AS SPEC'D ADIDAS #5143954108.15	Manufacture Manufacture Manufacture

	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	Laux Sporting Goods, Inc	11	PAIR	\$19.07	\$209.77	SELECT 32 ALL ROUND (LAUX #5232)	
82 Goa	alie Glove KPR012 Size 7, Brine						
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description BRING KING MATCH 3X 1388080 BSN PG	Manufacturer
	BSN Sports, Passon's Sports &	U:3	PAIR	\$20.96	\$62.88	165	Brine
83 Soc	cer Score Book, For Boys and Gir	ls, 20 G	ames w/ext	ra page for Season	Totals, Brine		
•	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	Scholastic Sports Sales	29	EACH	\$4.90	\$142.10		Brine
84 Dry	Erase Soccer Clipboard						
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description MARTIN CS019 9X16 - FULL FIELD ONE SIDE WITH 1/2 FIELD ON BACK WITH DRY	Manufacturer
	Laux Sporting Goods, Inc	5	EACH	\$5.87	\$29.35	ERASE	
85 Twi	in City Soccor Socks, Full Foot, Bla	ack, Rec	l, White				
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	Riddell	100	PAIR	\$2.88	\$288.00	TWIN CITY TSK	
36 Dia	dora Practice Vest, Model 99256	0, Neon	Yellow, Eac	ch			
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	BSN Sports, Passon's Sports &	U: 24	EACH	\$1.36	\$32.64	BSN C46 PG 127	
87 Soci	BSN Sports, Passon's Sports & ks, Black White	U:24	EACH	\$1.36	\$32.64	BSN C46 PG 127	
87 Soci		U:24 QTY	UOM	\$1.36 Unit Price	\$32.64 Extended	BSN C46 PG 127 Supplier Notes / Alternate Description	Manufacturer
87 Soci	ks, Black White			·	Extended		Manufacturer
,	ks, Black White Supplier Laux Sporting Goods, Inc	QTY 20	UOM PAIR	Unit Price \$3.87	Extended \$77.40	Supplier Notes / Alternate Description	Manufacturer
	ks, Black White Supplier Laux Sporting Goods, Inc	QTY 20	UOM PAIR	Unit Price \$3.87	Extended \$77.40 dding on the s	Supplier Notes / Alternate Description SOCCER SOCKS - TWIN CITY FSH 10	Manufacturer Manufacturer

190 Orai	nge Cone Markers, 4 Per Pkg						
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	Pyramid School Products	6	PKG	\$1.96	\$11.76	CHAMPION #SCXOR-4	
91 Swir	m Finns, Assorted Sizes						
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
						BETTER TIMES - FULL FOOT - FLOATING	
	Laux Sporting Goods, Inc	45	PAIR	\$16.17	\$727.65	LAUX #BT2	
92 Lap	Counter, Must meet all current N	ICAA re	gulations, U	Jnder water subm	ersible		
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacture
						BETTER TIMES 14"X14" EASY TO READ	
	Laux Sporting Goods, Inc	15	EACH	\$28.85	\$432.75	#VPT069 P- LAUX #BLA	
93 Spec	edo Pull Buoy, Each						
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
						SPEEDO SP7753023 EXACTLY AS SPEC'D	
	BSN Sports, Passon's Sports & U	J:26	EACH	\$7.92	\$205.92	BSN PG 269	
94 Sup	erboards, 12oz, Size 20 x 11.5 x 1	.09					
•	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacture
	BSN Sports, Passon's Sports & U	J: 10	EACH	\$10.70	\$107.00	SPEEDO SP7753005 BSN PG 271	
95 Trita	an Conventional Diving Fin, Color	Coded	by Size, Ava	ailable sizes: 0-1, 1	3, 3-5, 5-7, 7	-9, 9-11, 11-13, 14-15, 15-17	
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	Laux Sporting Goods, Inc	15	EACH	\$16.03	\$240.45	BETTER TIMES #BT2 - FLOATING	
99 Pen	n Tennisballs Extra Duty, USTA Co	ertified					
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
						AS SPEC'D LAUX #PD021001 PENN	
						CHAMPIONSHIP (6 DOZ PER CASE - ORDER	
	Laux Sporting Goods, Inc	54	DOZEN	\$10.46	\$564.84	BY CASE	
01 Spoi	nge Master Rol-Dri Unit w/ Mast	er Rolle	er				
-	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	BSN Sports, Passon's Sports & U	J:4	EACH	\$49.93	\$199.72	EXACTLY AS SPEC'D MTRDMSTR	
							- W/FL 20

	QTY	Wilson UOM	Unit Price	Extended	Cumplicy Notes / Alternate Description	Manufacturer
Supplier	QIY	UUIVI	Unit Price	Extended	Supplier Notes / Alternate Description AS SPEC'D WILSON CHAMPIONSHIP LAUX #	
	0	DOZENI	Ć40.27	¢02.00		
Laux Sporting Goods, Inc	8	DOZEN	\$10.37	\$82.96	WDOZ1	Wilson
204 Wilson Championship Extra Duty T	ennis Bal	ls. USTA Cer	tified. Case: 3 bal	ls/Can. 72/Cas	se	
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
Laux Sporting Goods, Inc	17	CASE	\$62.09	\$1,055.53	AS SPEC'D - LAUX #WCASE	
206 Quick Score Score Cards						
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
BSN Sports, Passon's Sports 8	& U:6	Set	\$128.18	\$769.08	EXACTLY AS SPEC'D 1274219 SET=4	
208 Pro Tennis Net, Regulation Net 42	x 39					
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
					MACGREGOR SUPER PRO TN500 BSN PG	
BSN Sports, Passon's Sports 8	Ս:10	EACH	\$85.72	\$857.20	169	
			•	•		
210 Coaches Cart Ball Hopper, Holds 25	50 Balls, 4	rubber whe	eels, 25 lbs			
210 Coaches Cart Ball Hopper, Holds 25 Supplier	50 Balls, 4 QTY	rubber whe	eels, 25 lbs Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	QTY			Extended	Supplier Notes / Alternate Description BSN 1342543 PG 171	Manufacturer
Supplier	QTY & U:1	UOM EACH	Unit Price \$144.22	Extended \$144.22	BSN 1342543 PG 171	Manufacturer
Supplier BSN Sports, Passon's Sports 8	QTY & U:1	UOM EACH	Unit Price \$144.22	Extended \$144.22	BSN 1342543 PG 171	Manufacturer Manufacturer
Supplier BSN Sports, Passon's Sports & Relay Batons-State Color, Aluminu	QTY U:1 m Batons QTY	UOM EACH , Roll Rim, B	Unit Price \$144.22 Black, Blue, Gold, (Extended \$144.22 Green, Red or Extended	BSN 1342543 PG 171 Silver	
Supplier BSN Sports, Passon's Sports & Relay Batons-State Color, Aluminu Supplier	QTY U:1 m Batons QTY	UOM EACH , Roll Rim, B UOM	Unit Price \$144.22 Black, Blue, Gold, (Unit Price	Extended \$144.22 Green, Red or Extended	BSN 1342543 PG 171 Silver Supplier Notes / Alternate Description	
Supplier BSN Sports, Passon's Sports & Relay Batons-State Color, Aluminu Supplier BSN Sports, Passon's Sports &	QTY U:1 m Batons QTY	UOM EACH , Roll Rim, B UOM	Unit Price \$144.22 Black, Blue, Gold, (Unit Price	Extended \$144.22 Green, Red or Extended	BSN 1342543 PG 171 Silver Supplier Notes / Alternate Description	
Supplier BSN Sports, Passon's Sports & Passon's	QTY & U:1 m Batons QTY & U:6	UOM EACH , Roll Rim, B UOM DOZEN	Unit Price \$144.22 Black, Blue, Gold, G Unit Price \$16.44	Extended \$144.22 Green, Red or Extended \$98.64	BSN 1342543 PG 171 Silver Supplier Notes / Alternate Description EXACTLY AS SPEC'D AALBAT Supplier Notes / Alternate Description	Manufacturer
Supplier BSN Sports, Passon's Sports & Page 15 Relay Batons-State Color, Aluminu Supplier BSN Sports, Passon's Sports & Pyramid Spikes 3/8, 100/Pkg Supplier	QTY & U:1 m Batons QTY & U:6	UOM EACH , Roll Rim, B UOM DOZEN	Unit Price \$144.22 Black, Blue, Gold, (Unit Price \$16.44 Unit Price	Extended \$144.22 Green, Red or Extended \$98.64 Extended	BSN 1342543 PG 171 Silver Supplier Notes / Alternate Description EXACTLY AS SPEC'D AALBAT Supplier Notes / Alternate Description	Manufacturer
Supplier BSN Sports, Passon's Sports & Page 15 Relay Batons-State Color, Aluminu Supplier BSN Sports, Passon's Sports & Pyramid Spikes 3/8, 100/Pkg Supplier Laux Sporting Goods, Inc	QTY & U:1 m Batons QTY & U:6	UOM EACH , Roll Rim, B UOM DOZEN	Unit Price \$144.22 Black, Blue, Gold, (Unit Price \$16.44 Unit Price	Extended \$144.22 Green, Red or Extended \$98.64 Extended	BSN 1342543 PG 171 Silver Supplier Notes / Alternate Description EXACTLY AS SPEC'D AALBAT Supplier Notes / Alternate Description	Manufacture

18 Pyramid Spikes 1/8, 100/Pkg						
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
Laux Sporting Goods, Inc	8	PKG	\$7.17	\$57.36	#G18	
19 3/16 Needle Spike, 100/Pkg						
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
Laux Sporting Goods, Inc	19	PKG	\$7.17	\$136.23	#GN36	
20 Pyramid Spikes 1/2, Bag of 100						
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
Laux Sporting Goods, Inc	10	BAG	\$7.17	\$71.70	#G12	
21 Starting Block 416, Easy Pedal Adju	ustment					
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
BSN Sports, Passon's Sports &	& U:6	EACH	\$39.85	\$239.10	PORTAPIT ASB1500X BSN PG 185	
22 Indoor Plastic Starting Blocks						
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
			4	****	DOM 500 COMMON DO 405 EVA CTIVA AS CRESIDE	
BSN Sports, Passon's Sports 8	& U:3	PER SET	\$14.67	\$44.01	BSN 6036XXXX PG 185 EXACTLY AS SPEC'D	
High Jump Cross Bar, Competition	Crossbar,	13' 1 1/2				
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
Laux Sporting Goods, Inc	5	EACH	\$56.15	\$280.75	GILL 522	
Pole Vault Cross Bar, 14'10, Each						
	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
Supplier	•					
Supplier Laux Sporting Goods, Inc	5	EACH	\$58.15	\$290.75	GILL 523	
• •	5		·	·		
Laux Sporting Goods, Inc	5		·	Adjustable to		Manufacturer

	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	заррисі	QII	COIVI	Offictrice	Exterioca	Supplier Notes / Alternate Description	wandracturer
						032254 STOPWATCH-ACCUSPLIT AX725BK	
	School Specialty, Inc.	10	EACH	\$13.68	\$136.80	(BLACK) 16-MEMORY ACCUSPLIT AX725BK	
28 T-Ha	andle Spike Wrench						
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	Triple Crown Sports	3	EACH	\$6.10	\$18.30		
29 Maiı	ntenance Rake 36						
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	BSN Sports, Passon's Sports &	. 11:2	EACH	\$32.45	¢07.25	BSN 1196245 PG 39 EXACTLY AS SPEC'D	
	bolt sports, rassolt's sports &	. 0.3	LACII	732.43	رد. ۱رد	BSN 1130243 FG 33 EAACTET AS SI EC D	
33 High	School Boys Throws Valuepac	k, Discus	, Cast Iron S	hot, Carrier			
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	C = = = = +: = C = = -+= C = = =	4	C - 1	400400			
	Scholastic Sports Sales	4	Set	\$294.00	\$1,176.00		
34 Girls	Scholastic Sports Sales Throws Valuepack, Discus, Cas				\$1,176.00		
34 Girls	·				\$1,176.00 Extended	Supplier Notes / Alternate Description	Manufacturer
34 Girls	s Throws Valuepack, Discus, Cas	st Iron Sh	ot, Carriers			Supplier Notes / Alternate Description	Manufacturer
	Throws Valuepack, Discus, Cas Supplier	st Iron Sh QTY 4	oot, Carriers UOM Set	Unit Price \$264.90	Extended \$1,059.60	Supplier Notes / Alternate Description	Manufacturer
	S Throws Valuepack, Discus, Cas Supplier Scholastic Sports Sales	st Iron Sh QTY 4	oot, Carriers UOM Set	Unit Price \$264.90	Extended \$1,059.60	Supplier Notes / Alternate Description	Manufacturer Manufacturer
•	S Throws Valuepack, Discus, Cas Supplier Scholastic Sports Sales Isuring Tape Kit w/case, 1- #988	St Iron Sh QTY 4 3 (300'/9 QTY	ot, Carriers UOM Set Om), 2- #98	Unit Price \$264.90 5 (100'/30m), 1-#	Extended \$1,059.60 984 (50'/15m) Extended	Supplier Notes / Alternate Description .	
35 Mea	Supplier Scholastic Sports Sales suring Tape Kit w/case, 1- #988 Supplier	St Iron Sh QTY 4 3 (300'/9 QTY	Oot, Carriers UOM Set Om), 2- #98	Unit Price \$264.90 5 (100'/30m), 1-# Unit Price	Extended \$1,059.60 984 (50'/15m) Extended	Supplier Notes / Alternate Description . Supplier Notes / Alternate Description	
35 Mea	S Throws Valuepack, Discus, Case Supplier Scholastic Sports Sales Suring Tape Kit w/case, 1- #988 Supplier Aluminum Athletic Equipmen	St Iron Sh QTY 4 3 (300'/9 QTY	Oot, Carriers UOM Set Om), 2- #98	Unit Price \$264.90 5 (100'/30m), 1-# Unit Price	Extended \$1,059.60 984 (50'/15m) Extended	Supplier Notes / Alternate Description . Supplier Notes / Alternate Description	
35 Mea	S Throws Valuepack, Discus, Case Supplier Scholastic Sports Sales Suring Tape Kit w/case, 1- #988 Supplier Aluminum Athletic Equipmen	St Iron Sh QTY 4 3 (300'/9 QTY t C 1	Om), 2- #98 UOM Set UOM EACH	Unit Price \$264.90 5 (100'/30m), 1-# Unit Price \$61.00	Extended \$1,059.60 984 (50'/15m) Extended \$61.00	Supplier Notes / Alternate Description Supplier Notes / Alternate Description AAE, PF90/PF30/SF15 Supplier Notes / Alternate Description	Manufacturer
35 Mea	S Throws Valuepack, Discus, Case Supplier Scholastic Sports Sales Suring Tape Kit w/case, 1- #988 Supplier Aluminum Athletic Equipment o 149 Stopwatch Printer Supplier	St Iron Sh QTY 4 3 (300'/9 QTY t C 1	Om), 2- #98 UOM EACH	Unit Price \$264.90 5 (100'/30m), 1-# Unit Price \$61.00 Unit Price \$339.00	Extended \$1,059.60 984 (50'/15m) Extended \$61.00 Extended	Supplier Notes / Alternate Description Supplier Notes / Alternate Description AAE, PF90/PF30/SF15 Supplier Notes / Alternate Description	Manufacturer
35 Mea	Supplier Scholastic Sports Sales Supplier Scholastic Sports Sales Suring Tape Kit w/case, 1- #988 Supplier Aluminum Athletic Equipmen o 149 Stopwatch Printer Supplier Scholastic Sports Sales	St Iron Sh QTY 4 3 (300'/9 QTY t C 1	Om), 2- #98 UOM EACH	Unit Price \$264.90 5 (100'/30m), 1-# Unit Price \$61.00 Unit Price \$339.00	Extended \$1,059.60 984 (50'/15m) Extended \$61.00 Extended	Supplier Notes / Alternate Description Supplier Notes / Alternate Description AAE, PF90/PF30/SF15 Supplier Notes / Alternate Description	Manufacturer

-30 OP	ray Chalk, Orange, 12/cs						
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	School Specialty, Inc.	9	CASE	\$38.28	\$344.52	012111	
239 Dii	rectional Flag, Specify Color: Red, Y	rellow,	Blue, Each				
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
						GILL GA96501 - GA 96601 - GA96701	
	BSN Sports, Passon's Sports & U	J: 10	EACH	\$7.95	\$79.50	REPLACEMENT FLAG ONLY, NO POLE	
240 Ge	eneric Cross Country Triathalon Tag	gs, Colo	r box and pri	nt, 1 1/2 W x 7 1	/2 H, includes	1 1/2 x 6 3/4 pulltag, 10 Color variations v	vith white info.
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer
	Triple Crown Sports	10	PACKAGE	\$7.00	\$70.00		
241 PE	NNANT FLAGGING, Poly pennant f	lagging	, 60' long, Ea	ch string has 24-	12" x 18" brig	htly colored pennants (6 alternating colors	., green, orange,
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer
	Triple Crown Sports	14	EACH	\$12.00	\$168.00		Rainbow Racing
242 M	olten Super Touch Volleyball - IV58	BL-U, N	FHS Approved	d, For use indoor	s		
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
						AS SPEC'D - SPECIFY ALL WHITE OR	
	Laux Sporting Goods, Inc	24	EACH	\$39.68	\$952.32	BLUE/GREY/WHITE	
243 M	olten Deluxe High Profile Ball Ham	mock -	With Lower (Compartment, Ho	olds 25 balls, S	Size: 38.5 (L) x 24 (W) x 48 (H)	
<u> </u>	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	Laux Sporting Goods, Inc	5	EACH	\$156.15	\$780.75	AS SPEC'D LAUX #MBKH	
244 Ta	chikara Hammock Style Ball Cart, \	With ny	lon carry bag	<u> </u>			
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
			FACIL	¢00.00	¢00.00	TACHIKARA BCHAM	
	Pyramid School Products	1	EACH	\$88.99	\$88.99	TACITICANA BEHAIVI	
246 Of				·			
246 Of	Pyramid School Products ficial Gold Volleyball, Top Grade Fo			·			Manufacturer
246 Of	ficial Gold Volleyball, Top Grade Fi	ull Grai	n Leather - M	ust have Nationa	al Federation S	Stamp	Manufacturer

	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	BSN Sports, Passon's Sports & L	J: 83	Each	\$45.22	\$3,753.26	EXACTLY AS SPEC'D WCVB5	
52 Knee	pads, Black or White, Wide Cush	nion Fo	am Pad, 9 1/	2 Front Sleeve Le	ngth		
-	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	School Specialty, Inc.	55	PAIR	\$7.04	\$387.20	1508057	
53 Volle	yball Scorebook, 1 Game per pa	ge; dec	iding game f	ormat, Official Vo	olleyball Score	book	
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
	BSN Sports, Passon's Sports & U	J: 16	EACH	\$3.23	\$51.68	BSN IIIIXXXX PG 203	
54 Volle	yball Clipboard						
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
		4.0		4- 00	4	0.14445.041.051.05	
	Pyramid School Products	12	EACH	\$5.99	\$71.88	CHAMPION #CBVB	
55 Net F	Height Measuring Chain, Measur			,	\$71.88 	CHAMPION #CBVB	
55 Net F				,	\$71.88 Extended	Supplier Notes / Alternate Description	Manufacturer
55 Net F	Height Measuring Chain, Measur	es Mer	ns or Women	s Heights	Extended		Manufacturer
	Height Measuring Chain, Measur Supplier Laux Sporting Goods, Inc	es Mer QTY 5	os or Women UOM EACH	s Heights Unit Price \$5.13	Extended \$25.65	Supplier Notes / Alternate Description	
	Height Measuring Chain, Measur Supplier Laux Sporting Goods, Inc	es Mer QTY 5	os or Women UOM EACH	s Heights Unit Price \$5.13	Extended \$25.65	Supplier Notes / Alternate Description AS SPEC'D LAUX # TSNET	rope, Net-Lock
	Height Measuring Chain, Measur Supplier Laux Sporting Goods, Inc eyball Net - Technora HM50, 32'	es Mer QTY 5	ns or Women UOM EACH ad 39 wide, to	s Heights Unit Price \$5.13 op corners reinfo	Extended \$25.65 rced with rubl	Supplier Notes / Alternate Description AS SPEC'D LAUX # TSNET Der., Net-Locks for tightening the bottom Supplier Notes	rope, Net-Lock
56 Volle	Height Measuring Chain, Measur Supplier Laux Sporting Goods, Inc Eyball Net - Technora HM50, 32' Supplier Scholastic Sports Sales	es Mer QTY 5 long an QTY 3	os or Women UOM EACH d 39 wide, to UOM EACH	s Heights Unit Price \$5.13 op corners reinfo Unit Price \$490.00	Extended \$25.65 rced with rubl Extended \$1,470.00	Supplier Notes / Alternate Description AS SPEC'D LAUX # TSNET Der., Net-Locks for tightening the bottom Supplier Notes	rope, Net-Lock Manufacturer
56 Volle	Height Measuring Chain, Measur Supplier Laux Sporting Goods, Inc Eyball Net - Technora HM50, 32' Supplier Scholastic Sports Sales	es Mer QTY 5 long an QTY 3	os or Women UOM EACH d 39 wide, to UOM EACH	s Heights Unit Price \$5.13 op corners reinfo Unit Price \$490.00	Extended \$25.65 rced with rubl Extended \$1,470.00	Supplier Notes / Alternate Description AS SPEC'D LAUX # TSNET Der., Net-Locks for tightening the bottom Supplier Notes	rope, Net-Lock Manufacturer d and white
56 Volle	Height Measuring Chain, Measur Supplier Laux Sporting Goods, Inc Eyball Net - Technora HM50, 32' Supplier Scholastic Sports Sales em Sport Antennae, Made of du	es Mer QTY 5 long an QTY 3	os or Women UOM EACH d 39 wide, to UOM EACH lass fiber, cla	s Heights Unit Price \$5.13 op corners reinfo Unit Price \$490.00 nmps attach to be	Extended \$25.65 rced with rubl Extended \$1,470.00 oth the top an	Supplier Notes / Alternate Description AS SPEC'D LAUX # TSNET Der., Net-Locks for tightening the bottom Supplier Notes d bottom of net, Each set includes two re Supplier Notes / Alternate Description	rope, Net-Lock Manufacturer
56 Volle	Height Measuring Chain, Measur Supplier Laux Sporting Goods, Inc Eyball Net - Technora HM50, 32' Supplier Scholastic Sports Sales Em Sport Antennae, Made of du Supplier Scholastic Sports Sales	es Mer QTY 5 long an QTY 3	ns or Women UOM EACH d 39 wide, to UOM EACH lass fiber, cla	s Heights Unit Price \$5.13 op corners reinfo Unit Price \$490.00 amps attach to be Unit Price	Extended \$25.65 rced with rubl Extended \$1,470.00 oth the top an	Supplier Notes / Alternate Description AS SPEC'D LAUX # TSNET Der., Net-Locks for tightening the bottom Supplier Notes d bottom of net, Each set includes two re Supplier Notes / Alternate Description	rope, Net-Lock Manufacturer d and white
56 Volle	Height Measuring Chain, Measur Supplier Laux Sporting Goods, Inc Eyball Net - Technora HM50, 32' Supplier Scholastic Sports Sales Em Sport Antennae, Made of du Supplier Scholastic Sports Sales	es Mer QTY 5 long an QTY 3	ns or Women UOM EACH d 39 wide, to UOM EACH lass fiber, cla	s Heights Unit Price \$5.13 op corners reinfo Unit Price \$490.00 amps attach to be Unit Price	Extended \$25.65 rced with rubl Extended \$1,470.00 oth the top an	Supplier Notes / Alternate Description AS SPEC'D LAUX # TSNET Der., Net-Locks for tightening the bottom Supplier Notes d bottom of net, Each set includes two re Supplier Notes / Alternate Description	rope, Net-Lock Manufacturer d and white

Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
BSN Sports, Passon's Sports	s & U:17	GALLON	\$43.31	\$736.27	EXACTLY AS SPEC'D 1092479	Cramer
61 Tornado Head Gear, PowerTaba	Strapping S	ystem, Vario	ous Colors			
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description CLIFF KEEN TORNADO F5 1420147 BSN PG	Manufacturer
BSN Sports, Passon's Sports & U:28		EACH	\$25.36	\$710.08	205	
62 Ankle Bands, 14 long, Green/Rec	l or Blue/Re	ed				
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
Laux Sporting Goods, Inc	7	PAIR	\$7.07	\$49.49	AS SPEC'D GREEN/RED LAUX #K5	
63 Wrestling Aids Nasal Plugs						
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacture
Laux Sporting Goods, Inc	5	PKG	\$9.83	\$49.15	300/PK MUELLER #191221	
64 Head Gear, Cliff Kleen - Any Colo	r					
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacture
					CLIFF KEEN SIGNATURE E581242508 BSN	
BSN Sports, Passon's Sports	s & U:69	EACH	\$23.14	\$1,596.66	PG 205	
65 Asic Gel Knee Pads Black/White,	Asic					
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
BSN Sports, Passon's Sports	s & U:18	PAIR	\$8.59	\$154.62	EXACTLY AS SPEC'D ACZD900	Asic
67 Score Book, Cliff Keen						
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacture
BSN Sports, Passon's Sports & U:16		EACH	\$4.74	\$75.84	EXACTLY AS SPEC'D 1420392	Cliff Keen
68 Mat Straps, 2W x 114L, Each						
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacture
Suppliel	QII	00.0	Omit i nec	Exteriaca	Supplier Hotes / Atternate Description	aa.a.a.a.a.a

269 Mat Tape 4 X 84'						
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
BSN Sports, Passon's Spor	rts & U! 138	ROLL	\$4.83	\$666.54	BSN 6406XXXX EXACTLY AS SPEC'D PG 205	5
270 Gorilla Grip Mat Tape, 4 x 84'						
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
Triple Crown Sports	128	ROLL	\$9.85	\$1,260.80		
271 Impact Bubble Knee Pad, High I	mpact Prote	ction, Black	k, Scarlet, Navy			
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer
					EXACTLY AS SPEC'D 1395249 PRICED EACH	٦,
BSN Sports, Passon's Sports & U:17		EACH	\$8.67	\$147.39	NOT PER PAIR	